Efficiency vs P,

70.07
o
9.009
>
2.008
@
2.007
(4]
0.006
0.005
0.004
0.003
0.002
0.001

q.

Ratio

107 1 10 prT (Ge\})o3

................................................

Efficiency vs ¢

&0.0])
(2]
2.009
(8]
$.008
©
§9.007
[J]
0.006
0.005
0.004
0.003
0.002
0.001

.............................................

..............................................

*
&
T

PP A S [N, SRR S
i
-

..............................................

E R F N A L LN LR L RN RER SR LRA

1.0

Ratio

0.95

LB R R
optt L
g
e
T

|

C

|

N

|

[N

o) T
=

N

W)

—oriars S P
o R R e e Rl ohz s ORI taZ00t02p5 1 1 -onoi
J——T— —pIX€|CPETemplate 1I_quareé15—step2—p of—era, 0
_ —pixe|CBETémplateCurChiSduareZn—step2—h ol—eraJpAio
—— pIXel clemplateCu |SquaresU—sie D ol—ela. 0




	Contents
	Page 1


